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HTPY w155 SRR A S I E M M =] O &l — T H 4,249.86 1k
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KTV B ARSI | PRI KOR T 2,958.00( 1k
KTV B ARSI M | PRI KR 3,180.00f 1%
KTV E ARSI | PRI KR T 10,622.85| 1tk
KTV R BRSPS 3,546.00( 1k
KIS E ARSI M | PRI KR 10,527.98| 1tk
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K TIHi20+ 215 BT S I 2 i | 1 w1 X K 0 T 4,138.93)  1itk
K TIHi22- 23 B BT S I 2 i | 1 w1 X K 0 T 4,133.67)  1ik
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H 1 5 Mi55m S I E M /N AL DX P T 13,616.06 Ltk
H B2 5 M5 S I E M /N AL DX P P T 3,878.50 Lk
H B3 5 M5 i S I E M /N AL DX P P T 11,708.40 (g@ggm
H B B A S I & Ml /N AL DX P P T 2,375.95 Lk
/I | BB R 5 R S (X & /N AL DX P P T 1,990.38 Ltk
H B3 B A S I Ml /N AL DX P P T 3,589.00 Ltk
H BSR4 R BE A S I & M /N AL DX P P T 3,571.18 Ltk
H B RGBS I & Ml /N AL DX P P T 2,873.61 Ltk
H BG5BT & Ml /N AL DX P P T 53,813.69 Ltk
H BT 5 R B A S I & Ml /N AL DX P P T 14,201.70 Ltk
H BAE2 5 R A S 1T M /N AL DX P T 4,867.39 Ltk
B | A3 S R S T /N AL DX P P T 4,081.71 Ltk
H Bdb4 = R A S 1T E M /N AL DX P P T 4,083.36 Ltk
H BAES = B A S I Ml /N AL DX P P T 1,763.24 Ltk
H BAE6 5 B A S I Ml /N AL DX P P T 1,763.24 Ltk
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0 R BRI |\ ST X LT 2,660.11| (oot s
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BRI 5 BE L BRI |\ BETE RLT LOTLI9| (gt 0
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YR 25 R BE A S I X Ml J\ I VG X JTR LT 2,030.80 1k
YN 35 R i far s (X ;e [\ v R AL ET 1,431.66 21tk
YR 35 2 i far s (XM [\ 7 R AL ET 1,895.45 Lk
Y45 e s (XM [\ 7 R AR ET 2,453.40 Lk
TRl R S (T E M FRRE R T 5 9,736.91 2ifk
T2 R S (T E M FRRE R T 5 6,863.74 2ifk
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JeiR1 -2 5 R REff S I E M FAAX AL T H 2,658.89 1%
A3 455 SR BEfT S 1L E M TR X ALz HT 2,612.27 1k
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%5~ 8 5 J BE 3 i < [ & M 75 F X ALRHT 2,683.26 1k
b2 S B SIEE | R X R T2 583.13 Ltk
e S B S I & M | R X R T4 840.24 Ltk
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Hi ] Z4 i A [ g (of) Sk
LM 1 B R B S (R & (AN BT — T H 823.00 1k
B | B R B S (R & M (AL BT — T H 8,582.84 1k
LR 2 B R | B S (R & (AL BT — T H 4,313.51 1k

i B 2 7 B2 B S IR Ml | A BT — T H 9,520.00 2tk
B 3 5 R REAT S IR E M s BT — T H 12,371.70 1%
B 4 5 R REAT S IXE M s BT — T H 12,356.24 2tk
WS- 25 BERT S LML | IR DT — T H 6,583.54 2tk
HWAB-3- 475 R BEMT S ILE M | AR DB — T H 6,241.98 2tk
ZEWES—5 T FEBE fT S | T Y s BT — T H 5,890.16 2tk
LW | B S I L& A X BEHT — T H 2,671.06 2%
W2 B S I X & M A X BEHT — T H 2,528.98 2%
W3 B S I X & M R X BEHT — T H 2,876.81 2%

W (BT ARG 15t ST E MY s BT — T H 7,851.25 2tk
BRI A2 B S I & Hh s BT — T H 12,551.99 2tk
BRI B S I X & Hh s BT — T H 8,620.32 2tk
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